
 

4206  P. T. O. 

CLASS : 10th (Secondary) Code No. 4206 
Series : Sec. M/2019 

Roll No. 

foKkufoKkufoKkufoKku    
SCIENCE 

(Academic/Open) 

[ fgUnh ,oa vaxzsth ek/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

[Only for Visually Challenged Candidates] 

le; : 4 ?k.Vs ]  [ iw.kk±d : 60 
Time allowed : 4 hours ] [ Maximum Marks : 60 

• d`i;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 15 rFkk      
iz'u 29 gSaA  

Please make sure that the printed pages in this 

question paper are 15 in number and it contains 29 

questions. 

• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj-
iqfLrdk ds eq[;-i`"B ij fy[ksaA 

The Code No. on the right side of the question paper 

should be written by the candidate on the front page 

of the answer-book. 
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• d`i;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad 
vo'; fy[ksaA 

Before beginning to answer a question, its Serial 

Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don't leave blank page/pages in your answer-book. 

• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% 
vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u dkVsaA 

Except answer-book, no extra sheet will be given. 

Write to the point and do not strike the written 

answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u-i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the 

question paper. 

• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= 
iw.kZ o lgh gS] ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok ijh{kk ds mijkUr bl lEcU/k esa dksbZ Hkh nkok 
Lohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkALohdkj ugha fd;k tk;sxkA 

Before answering the questions, ensure that you 

have been supplied the correct and complete 

question paper, no claim in this regard, will be 

entertained after examination. 
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uksV %uksV %uksV %uksV %        (i) lHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaAlHkh iz'u vfuok;Z gSaA    

            All questions are compulsory.    

  (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ;s x;s gSaA 

   Marks of each question are indicated in front 

of it. 

  (iii) iz'uksa ds mÙkj vadkuqlkj nsaA 

   Answer the questions according to their 

marks. 

  1. dksbZ foy;u yky fyVel dks uhyk dj nsrk gS] bldk pH 

lEHkor% D;k gksxk \ 1 

 ¼v½ 1  ¼c½ 4 

 ¼l½ 5  ¼n½ 10 
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 A solution turns red litmus blue, its pH is likely 

to be : 

 (a) 1  (b) 4 

 (c) 5  (d) 10 

  2. ,slh /kkrq dk uke crkb, ftls pkdw ls vklkuh ls dkVk tk 

ldrk gS % 1 

 ¼v½ lksfM;e  ¼c½ yksgk 

 ¼l½ ,syqfefu;e ¼n½ pk¡nh  

 Write the name of a metal which can be easily 

cut with a knife : 

 (a) Sodium  (b) Iron 

 (c) Aluminium (d) Silver 

  3. dkcZu dh la;kstdrk gS % 1 

 ¼v½ 2  ¼c½ 3 

 ¼l½ 4  ¼n½ 5 
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 Valency of Carbon is : 

 (a) 2  (b) 3 

 (c) 4  (d) 5 

  4. fdlh niZ.k ls vki pkgs fdruh gh nwjh ij [kM+s gksa] vkidk 

izfrfcEc lnSo lh/kk izrhr gksrk gSA lEHkor% niZ.k gS % 1 

 ¼v½ dsoy lery  

 ¼c½ dsoy vory 

 ¼l½ dsoy mÙky  

 ¼n½ ;k rks lery vFkok mÙky 

 No matter how far you stand from a mirror, your 

image appears erect. The mirror is likely to be : 

 (a) Plane   

 (b) Concave 

 (c) Convex  

 (d) Either plane or convex 
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  5. ekuo us= ftl Hkkx ij fdlh oLrq dk izfrfcEc cukrs gSa] og 

gS %  1 

 ¼v½ dkfuZ;k 

 ¼c½ n`f"ViVy 

 ¼l½ iqryh 

 ¼n½ ifjrkfjdk 

 The human eye forms the image of an object at 

its : 

 (a) Cornea 

  (b) Retina 

 (c) Pupil 

 (d) Iris 

 6. ,d ijek.kq dk bysDVªkWfud foU;kl 2, 8, 7 gS] bl rÙo dh 

ijek.kq la[;k D;k gS \ 1 

 Electronic configuration of an atom is 2, 8, 7. 

What is its atomic number ? 
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  7. ,slh /kkrq dk uke fyf[k, tks Å"ek dh dqpkyd gSA 1 

 Write the name of a metal which is a poor 

conductor of heat. 

  8. efLr"d dk dkSu&lk Hkkx 'kjhj dh fLFkfr rFkk larqyu dk 

vuqj{k.k djrk gS \ 1 

 Which part of the brain maintains posture and 

equilibrium of the body ? 

  9. fudV-n`f"V nks"k dks fdl ysal ds mi;ksx }kjk la'kksf/kr fd;k tk 

ldrk gS \ 1 

 By using which type of lens myopia can be 

corrected ? 

10. foHkokarj dks fdl ;a= }kjk ekik tkrk gS \ 1 

 Which instrument is used to measure the 

potential difference ? 
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11. ,d xksyh; niZ.k dh oØrk f=T;k 20 lseh0 gSA bldh Qksdl 

nwjh D;k gksxh \ 1 

 The radius of curvature of a spherical mirror is 

20 cm. What is its focal length ? 

12. okD; dks iwjk djsa % 1 

 fo|qr~ eksVj esa foHkDr oy; ------------- dk dk;Z djrk gSA 

 Complete the sentence : 

 In electric motor, the split ring acts as a ………. . 

13. csfdax lksMk ds nksnksnksnks  izeq[k mi;ksx crkb,A 2 

 Give two important uses of baking soda. 

14. vk?kkro/;Z rFkk rU; dk vFkZ crkb,A 2 

 Write the meanings of malleable and ductile. 
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15. vkids vuqlkj mRd`"V xSlksa dks vyx lewg esa D;ksa j[kk x;k \ 

2 

 Why do you think that the noble gases are 

placed in a separate group ? 

16. thou ds vuqj{k.k ds fy, vki fdu izØeksa dks vko';d  

ekusaxs \ 2 

 What processes would you consider essential for 

maintaining life ? 

17. vk;ksMhu rFkk bUlqfyu dh deh ls gksus okys jksxksa ds uke 

fyf[k,A 2 

 Write the name of diseases that occur by the 

deficiency of Iodine & Insulin. 

18. ikS/kksa esa izdk'kkuqorZu fdl izdkj gksrk gS \ 2 

 How does phototropism occur in plants ? 
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19. xHkZ-fujks/kd ;qfDr;k¡ viukus ds dksbZ nksnksnksnks dkj.k fy[ksaA 2 

 Write down the two reasons for adopting 

contraceptive methods. 

20. mÙky rFkk vory ysal esa dksbZ nksnksnksnks vUrj crkb,A 2 

 Write down the two differences between convex 

and concave lenses. 

21. fo|qr~ ySEiksa ds rUrqvksa ds fuekZ.k esa izk;% ,dek= VaxLVu dk gh 

mi;ksx D;ksa fd;k tkrk gS \ 2 

 Why is the tungsten used almost exclusively for 

filament of electric lamps ? 

22. gekjs }kjk mRikfnr vtSo fuEuhdj.kh; dpjs ls dkSu&lh 

leL;k,¡ mRiUu gksrh gSa \ ¼dksbZ nksnksnksnks    ½  2 

 What are the problems caused by the non-bio-

degradable wastes that we generate ? (any two) 
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23. vius Ldwy dks i;kZoj.k&fe= cukus ds fy, vki mlesa 

dkSu&dkSu&ls ifjorZu lq>k ldrs gSa \ 2 

 What changes would you suggest in your school 

in order to be environment-friendly ? 

24. (i) fdlh inkFkZ 'X' ds foy;u dk mi;ksx lQsnh djus ds fy, 

gksrk gSA inkFkZ 'X' dk uke rFkk bldk lw= fyf[k,A 2 

  A solution of a substance 'X' is used for 

white washing. Name the substance 'X' and 

write its formula. 

 (ii) la{kkj.k D;k gksrk gS \ ,d,d,d,d mnkgj.k nhft,A 2 

  What is Corrosion ? Write one example. 

25. (i) dkcZu ds nks xq.k&/keZ dkSu&dkSu&ls gSa] ftuds dkj.k gekjs 

pkjksa vksj dkcZu ;kSfxdksa dh fo'kky la[;k fn[kkbZ nsrh   

gS \ 2 
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  What are the two properties of carbon 

which lead to the huge number of carbon 

compounds we see around us ? 

 (ii) lkcqu rFkk viektZd esa D;k vUrj gS \ ¼dksbZ nksnksnksnks ½ 2 

  What are differences between Soaps and 

Detergents ? (any two) 

26. (i) pqacdh; {ks= js[kkvksa ds dksbZ nksnksnksnks  xq.k fyf[k,A 2 

  Write the two properties of magnetic lines 

of force. 

 (ii) fo|qr~ ifjiFkksa rFkk lkf/k=ksa esa lkekU;r% mi;ksx gksus okys 

nksnksnksnks  lqj{kk mik;ksa ds uke fyf[k,A 2 

  Name two safety measures commonly used 

in electric circuits and appliances. 
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27. letkr rFkk le:i vaxksa dks mnkgj.k nsdj le>k,¡A 2 + 2 

 Explain the terms analogous and homologous 

organs with examples. 

28. ÅtkZ ds vkn'kZ òksr esa D;k xq.k gksrs gSa \ ¼dksbZ pkjpkjpkjpkj ½ 4 

 What are the qualities of an ideal source of 

energy ? (any four ) 

29. (i) Xywdkst ds vkWDlhdj.k ls fHkUu thoksa esa ÅtkZ izkIr djus 

ds fofHkUu iFk D;k gSa \ 3 

  What are the different ways in which 

glucose is oxidized to provide energy in 

various organisms ? 

 (ii) _rqlzko D;ksa gksrk gS \   3 

  Why does menstruation occur ? 
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vFkokvFkokvFkokvFkok    

OR 

 (i) ok;oh; rFkk vok;oh; 'olu esa D;k varj gS \ ¼dksbZ 

rhurhurhurhu ½   3 

  What are the differences between aerobic 

and anaerobic respiration ? (any three) 

 (ii) fuEufyf[kr iztuu fof/k;ksa dk mnkgj.k lfgr o.kZu   

djsa %   3  

  ¼d½ f}[kaMu 

  ¼[k½ cgq[kaMu 

  ¼x½ dkf;d izo/kZu 
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  Describe the following methods of 

reproduction with examples : 

  (a) Binary fission 

  (b) Multiple fission 

  (c) Vegetative propagation 

s 

 


